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Ritp:/farbe i tu-berlin.de/ CEES/CEESL ONA. TXT 7.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

LABJNDuO triangle lightnesst*

t* Yoc=Yw - nc=100,

t*LaBINDU9 =IN(A 1ntA2nY)/(ArAon)  (Ynd/100<Y<=Y, ()
L ABINDU9 =IN(A 1+ A2X)/(A2A0n)  (X=YTYy)
t*(3,6)=348 1, (18)=791 " /(90)=1231

log[t*/t* ]=0, m;=0,33

=11 31,4 | A= 6, Ay =0,0488, ¢=0,42
t15=741,01 A~C M7, A=0,0024
t43,6=347,8¢ tA=T" 1'011J 18 1
= |>h:1
wXn=02  'xy=5

application
range

LABJINDu9

tristimulus value difference

Yoc=Yw nc=100,
L ABINDUg =IN(A 17 A2 Y)(A2rAon)  (Yad/100<Y<=Y,o)
1 ABINDUg =IN(A 10+ A2X)(A2iAon) - (X=YTYy)
dY:AOn(A1n+A2nY):A0n(A1n+A2uX) X=YIYL|
Aonpes=1,5, Aon a=1,0, see CIE 230:2019

lo 0,89, M= =0.6188) ¢=
gwﬁf noo A, .Tfn —‘2“&:_:00;2 a{;)pllcauon
dY; 0,03 Y,=18, dY;=0,09 v
SY 3 G ChfE =1
xN=0,2 Xw=5

log AY/Y) LABJINDUO
_ tristimulus value sensitivity
S=@vr) YotV nc=100
L ABINDUg =IN(A 17 +AZNY)(A2rAon)  (Yad/100<Y<=Y,o)
1 AgINDUg =IN(A 10t A2X)(A2iAon) - (X=YTYy)
AY/Y=Agn(A1ntA2nY)Y=Aon(A1ntAX)/Y
(dY/Y)5=0,0032, A=LS, £9=0,0438, 6=0,42
(AYI)6=0,0050 Aru.037, £4,=0,0024
(dY/Y},0,010,: ¥, 18 dY=0.00

\
‘., application
log(dY/Y}F-2,29 m,;=-0,26 « s, range
&
t,=791, dY,=0,09 dY,/Y,=0,00501 * "4
1
=1
xN=0,2 Xw=5

LABJINDu9

tristimulus value contrast

Yoc=Yw nc=100

L ABINDUg =IN(A 17 +AZNY)(A2rAcn)  (Yad/100<Y<=Y,o)

tLaBINDU9 =IN(A 10t A2 )/(AouAon)  (X=YTY)

YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]
(YIdY}g=253,97, Ay=L,5, Ay =0,0438, ¢=0,42
(Y/dY)g=197,21, A,=0,017, A=0,0024

=, EYiol hv=98,68 YJ&@ ﬁ‘ﬁﬁo 09

C,=(Y/AY)

cpuul

application

LABJNDuSO relative triangle lightnesst*/t*,

e, Yoc=Yw - nc=100,

L aABINDU9 =IN(A 1n+A2nY)/(AorAon)  (Ynd/100<Y<=Y, ()
1 ABINDU9 =IN(A 17+ A2 X)/(A2yAgn)  (X=Y/Y)
t(3,6)=348* ,(18)=791 t* ,,(90)=1231

t*og/t*=1,55, Ay=1,5, Ap,=0,0438, ¢=0,42

t* g/t =100, A,,=0,017, /4=0,0024

%3 /t*,=0,43,%,=791,01 Y=18

log[t*/t* ]=0, m,=0,33

1 application
range

=1

log(AY/AY,) LABJINDuUO relative
AYIAY tristimulus value difference
u Yoe=Yw  nc=100,

t*LaBINDU9 =IN(A 1n+A2nY)/(A2rAon)  (Ynd/100<Y<=Y,()
t* 1 ABINDUO =IN(A 1AL (A Ao (X=YT1Y)
AY/dY =(AqntA2X)(A1ntAgy)
dYoy/dY,=3,88, Ay=1,5, Ay, =0,0438, ¢=0,42
dY,g/dY,=1,00, A,=0,017, /,=0,0024
dY; ¢dY,=0,42 Y,=18, d\;=",09

t*,=791, dY,=0,09 dY,/%,=0 ~050 ,‘
1 application
1 range

%=1

Xw=5

log [(AY/Y) 1 AYIY),] LABJINDuUO relative
tistimulus value sensitivity

SISu=@YMIAYN) v =y, =100

nc
t*LaBINDUg =IN(A 1n+A2nY)/(A2rAon)  (Ynd/100<Y<=Y,()
t*LagaNDug =IN(A 1t A2 ) (A2iAon) - (X=Y1Yy)
(dY/YY(AYIY)=[(A1r+A)XI(A 17+A2)
(AY/YVhg/(dY/Y)=0.77, Ay=1,5, Ay =0,0438, G=0,42
(@YY (@YIY)=L,0Q ry,=0.017, Ay 0,0024
@YYy g(@YY)=2, 11~ $18 =09

Ay
log[(dY/YY(dY/Y),]=0, m=-0,26
1 application
=791, dY,=0,09 dY,/¥,=0,0050;  HEE
%=1
XN=0,2 Xw=5

log [(Y/AY) 1 (YIAY),] LABJINDuO relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

t*LaABINDU9 =IN(A 1n+A2nY)/(AorAon)  (Ynd/100<Y<=Y,()
tLagaNDug =IN(A 1t A2 X)(A2iAon) - (X=Y7Yy)
(YRYY(YIAY) =X /(A1ntAz ) (A 1n+A2,)
(YIAY ) (Y/AY)=1,28, Ay=1,5, Ay, =0,0438, ¢=0,42
(Y/dY)g/(Y/dY)=1.00, A=0,017, /4=0,0024
(Y/dY}, g(Y/dY)=0,47, Y,=18, dY=0,09

log[(Y/dY)(Y/dY),]=0, m=0,26

o’ 1 application
- i range

%=1
AN=0,2 Xw=5

LABJNDu9 triangle lightness T*

YoceL*w - ne=100,

T ABaNDu9 =IN(A1n+AnY)(A2nAon)  (Ya/100<Y<=Yyo)
T*LaBaNDug=IN(A 10 A2 X)/(A2iAon) - (X=YIY,)
T+ (3,6)=348,T* ,(18)=791,T*y/(90)=1231

log[T*/T* J=0, m,=0,33

1
=1231,47, A =195, A, =0,0438, ¢=0,42
T*18=791 01, 1y, :0 917, A4,=0,§024
T#3,=347,89,1%, 7!'101\(1 181

N |>h1

=02 "y=5

application
range

CEE91-1A

logAY) LABJINDu9
AY tristimulus value difference

YomL*yy - =100,
T*LABINDU=IN(A 17+ A2nY)/(A2nA0n)  (Ynd/100<Y<=Y,o)
T*LABINDUO=IN(A 1+ A2)/(A2uAon)  (X=YTYy)
dv:ADn(A1n+A2nY)=A0n(A1n+A2uX) X:Y/Yu
Aonpes=1,5, Aon a=1,0, see CIE 230:2019

'090*‘66:0 as, %=€ILH A 'ASI =0,
dY;g=0,09, A -~ _= (Qr‘_o 0094 apphcauon
dYs,6=0,03 Y,=18, dY=0,09 :m-l

XN=0,2 Xw=5

CEE91-3A

log (AY/Y) LABJINDU9

tristimulus value sensitivi
S=(@AYH) YomL*w =100 4

nc’

T*LABINDU=IN(A 17+ A2nY)/(A2nA0n)  (Yd/100<Y<=Y,o)
T*LABINDuO=IN(A 1+ A2)/(A2uAon)  (X=YTYy)
AYY=Ag(Arr+AgnY)Y=Agn (A1 A XY

(dY/Y)=0,0039, A=1,5, Ay=0,0438, G=0,42

(dY/Y)§=0,0050, A =0.017, A4,=0,0024

(dY/Y) ¢=0,010%. ” =18, dY=0,09

N
DN
application
log(dY/Y)}F-2,29 m,=-0, 26 Sen range

T*,=791, dY,=0,09 dY,/Y, oooscn R

|>&|:1
XN=0,2 Xw=5

CEE91-5A

log (Y/AY) LABJINDu9

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’

T*LABINDU=IN(A 17+ A2nY)/(A2nA0n)  (Yd/100<Y<=Y,o)
T* L aganDug =IN(A 10+ A2 (AgAon)  (X=YT1Y,)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]
(YIdY}g=253,97, Ay=L,5, Ay =0,0438, ¢=0,42
(Y/dY)g=197.21, A=0,017, A4,=0,0024
T (A ety D 150 AR ¢ @ﬂe@ 09

log(Y/dY)=2,29 m=0,26 _ ¢

’

> application

CEE91-7A
CEE91-7N

THT* LABJNDuO relative triangle lightness T*/T*
THT*, Yoc=L*w - nc=100,

T*LaBaNDu9 =IN(A1ntA2nY)(AnAon)  (Yn/100<Y<=Yyo)
T*LagaNDug =IN(A17+A2X)/(A2iAon) - (X=Y1Yy)
T*N(3,6)=348,T*,(18)=791,T*,(90)=1231

T*go/ T*,=1,55, Ay=1,5, Ay =0,0438, ¢=0,42
T*1gT*,=1,00, A,=0,017, A=0,0024
T3 gT%,=0,43,T%,=791,01 Y=18
log[T*/T*]=0, m,=0,33
L* =49, T*,=791 o
1 application
range

=1

CEE91-2A

log(AY/AY,) LABJINDuUO relative
tristimulus value difference

AYIAY, Ve irl
T*LABINDU9 =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDU9 =IN(A 1ntA2) (A2 Aon)  (X=YTYy)
dY/dY =(A1+A X (A1 +AY)
dYoy/dY,=3,88, Ay=1,5, Ay =0,0438, ¢=0,42
dY,g/dY,=1,00, A,=0,017, A,=0,0024
dY;,¢dY,=0,42 Y,=18, dY=0,09 p;
*
09 dY,/Y,=0,055% 4 ¢
>
|09[(dYY(dY)u]—0 m,= 07’ -
- application
range

%=1
XNn=0,2 Xw=5

CEE91-4A
log [(AY/Y) | (AYIY),] LABJINDuUO relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc’
T*LABINDU9 =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDU9 =IN(A 1ntA2) (A2 Aon)  (X=YTYy)
(AY/YY(AYIY)=[(A 1+ A ) XA 17+A20)
(@YY (AYIY)e 77, Ayl 5, Agy=0,0438, ¢=0,42
(AYY)(AYYV)=1,6, Ar=0,017, A4, =0,0024
(@Y (@YY)2, 118 L2, 4Y=0,09

-
Togl(@Y/VY(@Y/V),J=0, m=-0,26 1 o
T*,=791, dY,=0,09 dY,/Y,=0,005¢} ?g’,ﬁ’é‘ga"m
%=1
XNn=0,2 Xw=5

CEE91-6A
log [(Y/AY) I (YIAY),] LABJINDuUO relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nc™

T*LABINDU9 =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUO =IN(A 1ntA2)/(A2uAon)  (X=YTYy)
(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)
(YIAY}o(Y/dY)=1,28, Ay=1,5, Ay, =0,0438, ¢=0,42
(Y/dY)g/(Y/dY)=1,00, A=0,017, £5,=0,0024
(Y/dY} (Y/dY)=0,47, Y, =18, dY=0,09

application
range

CEE91-8A

TUB-test chart CEE9; LABINDyY3*(Y) & T*(Y), Yac=(Y&L*) wrcBne x=0,43, with more data
Absolute and relative lightness, sensitivity and contragt=#A5, A1n=0,017, A=0,0024, A,~=0,04
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